

**Note**

**On Polynomials with a Prescribed Zero**

K. K. DEWAN

*Department of Mathematics,  
Jamia Millia Islamia, New Delhi 110025, India*

AND

N. K. GOVIL

*Department of Mathematics,  
Auburn University, Auburn, Alabama 36849*

*Submitted by William F. Ames*

Received July 17, 1992

Let  $p(z) = \sum_{v=0}^n a_v z^v$  be a polynomial of degree at most  $n$  vanishing at  $z = \zeta$  ( $\zeta^{n+1} \neq 1$ ). It has been proved that for every complex  $\lambda$  and  $k = 0, 1, 2, \dots, n$ ,

$$a_k = \frac{1}{k!} \frac{1}{(n-k+1)} \sum_{v=0}^{n-k} p^{(k)}(e^{2v\pi i/(n-k+1)}) - \frac{\lambda}{(n+1)} \sum_{v=0}^n \frac{p(e^{2v\pi i/(n+1)})}{(\zeta e^{-2v\pi i/(n+1)} - 1)}$$

© 1994 Academic Press, Inc.

**1**

Let  $p(z) = \sum_{v=0}^n a_v z^v$  be a polynomial of degree  $n$ . Then clearly

$$|a_0| \leq \max_{|z|=1} |p(z)|, \tag{1.1}$$

with equality holding if and only if  $p(z)$  is of constant modulus on  $|z| = 1$ . In case  $p(z)$  has a zero on  $|z| = 1$ , Boas [1] sharpened the above inequality (1.1) and proved

$$|a_0| \leq \left(\frac{n}{n+1}\right) \max_{|z|=1} |p(z)|. \tag{1.2}$$

Rahman and Schmeisser [3] generalized the above result of Boas [1] for polynomials having a zero on  $|z| = \rho$  ( $0 < \rho < \infty$ ) by proving the following.

**THEOREM A** [3, Theorem 2]. *Let  $p(z) = a_0 + a_1z + \dots + a_nz^n$  be a polynomial of degree at most  $n$  vanishing at*

$$\zeta = \rho e^{i\phi} \neq e^{2v\pi i/(n+1)} \quad (1 \leq v \leq n, \rho \geq 0, 0 \leq \phi < 2\pi).$$

*Then*

$$|a_0| \leq \frac{2\rho}{n+1} \sum_{v=1}^n \frac{\sin(\pi v/(n+1))}{\sqrt{\rho^2 - 2\rho \cos(2\pi v/(n+1) - \phi) + 1}} \max_{1 \leq k \leq n} |p(e^{2k\pi i/(n+1)})|. \quad (1.3)$$

*This inequality is best possible for every admissible  $\rho e^{i\phi}$ .*

The above theorem has been deduced from the following lemma which itself is of independent interest.

**LEMMA A** [3, Lemma 1, p. 95]. *If  $p(z) = a_0 + a_1z + \dots + a_nz^n$  is a polynomial of degree at most  $n$  vanishing at  $z = \zeta$  ( $\zeta^{n+1} \neq 1$ ), then for every complex number  $\lambda$ ,*

$$a_0 = \frac{1}{n+1} \sum_{v=0}^n \left( 1 - \frac{\lambda}{(\zeta e^{-2v\pi i/(n+1)} - 1)} \right) p(e^{2v\pi i/(n+1)}). \quad (1.4)$$

## 2

In this note we prove a generalization of the above lemma by obtaining a representation of  $a_k$  for  $k = 0, 1, 2, \dots, n$ , which for  $k = 0$  reduces to the above lemma. Besides, we believe our proof is much simpler. We prove

**THEOREM.** *If  $p(z) = a_0 + a_1z + \dots + a_nz^n$  is a polynomial of degree at most  $n$  vanishing at  $z = \zeta$  ( $\zeta^{n+1} \neq 1$ ), then for every complex  $\lambda$  and  $k = 0, 1, 2, \dots, n$ ,*

$$a_k = \frac{1}{k!} \frac{1}{(n-k+1)} \sum_{v=0}^{n-k} p^{(k)}(e^{2v\pi i/(n-k+1)}) - \frac{\lambda}{(n+1)} \sum_{v=0}^n \frac{p(e^{2v\pi i/(n+1)})}{(\zeta e^{-2v\pi i/(n+1)} - 1)}. \quad (2.1)$$

*Proof.* Using Lagrange's interpolation formula [2, p. 62] with  $z_0,$

$z_1, \dots, z_{n-k}$  as interpolation nodes, where  $z_0, z_1, \dots, z_{n-k}$  are the zeros of  $z^{n-k+1} - 1$ , we get

$$\begin{aligned} p^{(k)}(z) &= \sum_{v=0}^{n-k} \frac{p^{(k)}(e^{2v\pi i/(n-k+1)}) e^{2v\pi i/(n-k+1)} (z^{n-k+1} - 1)}{(z - e^{2v\pi i/(n-k+1)})(n-k+1)} \\ &= \frac{(z^{n-k+1} - 1)}{(n-k+1)} \sum_{v=0}^{n-k} \frac{p^{(k)}(e^{2v\pi i/(n-k+1)})}{(ze^{-2v\pi i/(n-k+1)} - 1)}. \end{aligned}$$

In particular,

$$p(z) = \frac{(z^{n+1} - 1)}{(n+1)} \sum_{v=0}^n \frac{p(e^{2v\pi i/(n+1)})}{(ze^{-2v\pi i/(n+1)} - 1)}.$$

Since by assumption  $p(z)$  vanishes at  $z = \zeta$  ( $\zeta^{n+1} \neq 1$ ), we get for every complex  $\lambda$ ,

$$a_k = \frac{p^{(k)}(0)}{k!} = \frac{p^{(k)}(0)}{k!} - \frac{\lambda p(\zeta)}{\zeta^{n+1} - 1},$$

which implies

$$\begin{aligned} a_k &= \frac{1}{k!} \frac{1}{(n-k+1)} \sum_{v=0}^{n-k} p^{(k)}(e^{2v\pi i/(n-k+1)}) \\ &\quad - \frac{\lambda}{(n+1)} \sum_{v=0}^n \frac{p(e^{2v\pi i/(n+1)})}{(\zeta e^{-2v\pi i/(n+1)} - 1)}, \end{aligned}$$

and the proof of the theorem is complete.

It is clear that for  $k=0$ , the above theorem reduces to Lemma A.

#### REFERENCES

1. R. P. BOAS, JR., Inequalities for polynomials with a prescribed zero, in "Studies in Mathematical Analysis and Related Topics," pp. 42-47, Stanford Univ. Press, Stanford, CA, 1962.
2. F. B. HILDERBRAND, "Introduction to Numerical Analysis," McGraw-Hill, New York, 1956.
3. Q. I. RAHMAN AND G. SCHMEISSER, Some inequalities for polynomials with a prescribed zero, *Trans. Amer. Math. Soc.* **216** (1976), 91-103.

Printed in Belgium  
 Uitgever: Academic Press, Inc.  
 Verantwoordelijke uitgever voor België:  
 Hubert Van Maele  
 Altenastraat 20, B-8310 Sint-Kruis